«:  [ngineering a Selution:
\\'C@mparing Pres and Cons

This engineer defined the problem and developed
a number of possible solutions. He is comparing the
pros and cons of each solution tfo see which will be
the most useful. Help him by checking the number
of cons that correctly completes each comparison.

Pros Cons

Selution#12 | 3] < 4) 18 16
Solution #3 | 4] =||34 41 N
Selutien#4 | 56 > 179 16 64
Selutien#3 | 75 <19 13 31

Which solution should the engineer choose? Check the correct
answer. (Hint: Find the one with the greatest number of pros!)
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